MAT1275CO Mr. Kan
Review Sheet for Exam #1

Factor Completely

1) 14a'?b + 12a8h3 2) 2x%y? + 8x°y”°
3) 100x* —y?* 4) 36x3% — 25y10
5) 8x%2 —10x —3 6) —4 + 15x2 + 4x

Find the roots of the function. Express your answer in simplest form when possible.
7) y=x?—16x+ 89 8)y=x?-2x—-8

Find the roots and the y intercept, identify the vertex, and sketch the parabola.
9) y=x%+7x+12 10)y =x2—-2x—8

Graph the equation.
11) 5y +15 = —x 12) y —2x =10

13) Write the equation of the line that goes through the point (4, —2) and is
perpendicular to 4x + 3y = —6.

14) Write the equation of the line that passes through the points (—2,3) and (4,6).

Simplify and express your answer in a + bi form.

4+i 5-3i
15) 2-5i 16) -9-7i
Simplify.
17) (10t 18) i%°
Solve the system of equations.
2y=x—06 2x —5y =7
19)4X+y=—3 20) 3 —10=13
dx +4y+z =24
21) 2x—4y+z=0
5x —4y —5z=12
Put in Vertex Form
22) y = 5x% + 90x — 30 23) y = 3x2 + 48x — 63

Put the equation of the circle into standard form, then identify the center and radius.
Lastly, graph the circle on an xy axis, labeling the center and 4 points on the circle.
24) x? + 14x 4+ y2 =20y —47 =0



1) 14a®b(7a* + 6d?)
3) (10x2 + y12)(10x2 — y12)
5)(4x+1)(2x —3)

7)8+5i
9)
/ (0,12)
1
5
(—3.5,—0.25)
e 0
(—4,0) (-3,0)

x-intercepts: (—3,0), (—4,0)

y-intercept: (0,12)

vertex: (— z, —1)
2 4

M)y=-zx-3

(—5,-2)
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13)y=%x—5
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Answer Key

2) 2x%y2(1 + 4x3y7)
4) (6x® — 5y°)(6x® + 5y°)
6) 3x +2)(5x — 2)

5497
8) "
10)
(=2,0) (4,0)
0 5
5
(Oa _8)
-10 (1,-9)

x-intercepts: (—2,0), (4,0)
y-intercept: (0,8)
vertex: (1,—-9)

12) y = 2x + 10
[

(1,12)

1

(—i,é) (0,10)

(_5a 0)

f 0

14)y =-x +4
12 31.
16)—-33'—'ggl



17) i

19) (0,-3)

21) (4,2,0)
23) y = 3(x + 8)% — 255

24)(x + 7)? + (y — 10)?> = 196

1,10)

ev

18) —i

20) (2.3)

22)y = 5(x + 9)% — 435




